
Stabilisation Calculation

Length 500m, Width 4,0m, Depth 
150mm.

Maximum dry density = 2160kg/m3

Stabilization: 1,25% cement, 2,15% 
net bitumen, 3,583% emulsion

❖ Example of cement calculation.

❖ Cement (t) = volume x 
MDD/1000 x 1% stabilization 

❖ = 300 x 2160kg/m3 / 1000 x 
1,25% = 8,10 tons

Example of emulsion calculation.

❖ Emulsion (litres) = volume x MDD 
x 3,583% emulsion 

❖ = 300 x 2160kg/m3 x 3,583% = 
23 220 litres

Example of foam bitumen 
calculation.

❖ Bitumen (ton) = volume x 
MDD/1000 x 2,15% bitumen

❖ = 300 x 2160kg/m3/1000 x 1,2% 
= 13,932 tons
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Asphalt BRD 2350 kg/m3

Asphalt thickness: 
Truck_JNR425MP

Thickness = tons/BRD/area

Thickness = 16.26ton/ 
2.35t/m3/92.34m2 = 
0.0749m 

Calculate the asphalt waste 
and type in the chat.

❖ Use the average 
thickness for the day

Calculate asphalt waste


